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Name

Write the expression as the sum or difference of 11) logrl Xy
logarithms.

1) log3 (9+5)

12) log . [x(y - 4]

13
2) log, R

m
13) log3 >
3) log6 12x
w
14) log ——
1184 556
4) logn Xy
15) log =
5) log, [x(y - 6)] 5 n
m x +11
6) log3a 16) log,, x+10
X m +2
7) log4; 17) log 1, m+5
8) log, (9-11) 18) log3%
11
i 2 01, 21
10) log, 12x
8 20) log 119

r r+8



Write the expression as a single logarithm. 34) 1-logy 4
21) log4 7+ log4 9

35) log, 6 + logg (x - 12)
22) log2 7+ log2 6

36)loga q +loggy
23) log, 6 - log, 19

37)logp m +logp n
24) logy, 4 +1

38) logb X - logb a
25) log 7 + 1

39) 10g9 (z-y)- 10g9 (z+y)
26) 1 -logy, 3

40) logb X = logb y
27) 1 -logy, 8

41) log, (y - p) - log, (y + p)
28) log6 13 + log6 x-9)

42) log, 6 + 1
29) log. m +log. n

43) logy, 4 + 1
30) 10gb y - 10gb a

44) 1 -logy, 7
31)log, (q-p) -logy (9+p)

45) 1 -logy 6
32) logz 18 - logs 7

46) log5 8 + log5 (x-13)
33) logy, 3 + 1



Use the power property to rewrite the expression.

47) logg 711

48) logg 1011

49) logg 55

50) log8 y4

5
51) logx Aly

52) log5 y~7/

53) log 9 yo

4
54) logx Aly

55) log 6 y—2

56) log4 y10

3
57) logx Ay

58) log 5 y3

Evaluate.
59) log, 325

60) log, 37

1/2
61) log8 8 f

62) logy a—d
63) 4loga 21

log a
64) 8 8

8
65) x.08x

66) log3 37/6

67) logg a=7/
68) 3log3 19

log a
69) 4 84

2
70) x.08x



Answer Key
Testname: WS8.5V02

1) 2+log35
2) log, 13 - log, 12
3) log6 12 + log6 X
4) logrl X + logrl y
5) log, x +log, (y - 6)
6) log3 m-4
7) 10g4x—10g4y
2 +log,_ 11
8) 2+ 08,
9) logg 11 - logg 7
10) log8 12 + log8 X
11) logn X + logn y
12) log . x +log  (y - 4)
13) 1og3m—3
14) 10g4w—4
15) log5 m —log5n
16) logX (x+11) - logX (x+10)
17) logm (m+2)- logm (m+5)
18) log3 q- log3 r
19) logr (r+19) - logr (r+20)
20) 10gr (r+19) - logr (r+8)
21) log4 63
22) log, 42

6
23) log, 19
24) logy, 4b
25) log, 7b

26) logy, %

b
27) logy, =
28) log6 (13x - 117)
29) log m n

30) logb%
1) log. 1=E
31) 08, 9+ p

32) log, 1—78

33) logy, 3b



Answer Key
Testname: WS8.5V02

34) logb%

35) logg (6x - 72)
36)loga qr
37)logp mn

38) log,, %
Z —_—
40) logb X
y

41) log, %
42) log, 6b
43) logy 4b

44) logy g

45) logb%

46) log5 (8x - 104)
47) 11logg 7

48) 11logg 10

49) 3logg 5

50) 410g8 y

1
51) glogX y
52) —7log5 y
53) 510g9 y
1
54) ZlogX y
55) -2 log6 y
56) 1010g4 y
57) %logX y

58) -3 log5 y
59) 25
60) 7
1
61) 5

62) -5
63) 21
64) a
65) 8



Answer Key
Testname: WS8.5V02

7
66) =

67) -7
68) 19
69) a
70) 2



